[E—Xﬂ 1] &5 y=2"(ne AF), y=2"(rL 7)), y=2"0E A5 =IFE T3}
= A Uit B0 AATS 3 FIAIL. (50F)

(78 A p(r)of| TS Pla)=00|M Plx)=(r—a)Qx)?] Tt Qx)7t =X|5HH,

Ctetstes ettt EXSHH A 50|

(L) & f(@)7l z=a0M DIE7tSotl & gl@)?t z=f(a)0IM OIZ7tSE o
SEEE g(f(2)2 z=a0lM BEA L= g (f(a)) f'(a)OlCt

(Ch) &= f@)2 g(z)7t z=a0lM O|27tssHH &4 flr)g(x)Q x=aO0lAM DO|E2A
= f'(a)gla)+f(a)g (a)OlCt.

o
02
N
@)
2
o
ol
2
@)
|
@)
°
o

n+k

2 n, ¥4 kO Tisto], &4 h(z) =z " 9 z=a0M OI@ASE n+k=> 02
B2 n+tk<02 FR=2 LIFO0M AHAIZ (), (L), (EHE OI85H0 oA,

n+k
QUL g, AHL n, AL kO CHSIO], &4 h(z)=z " Of CHSIO] = =aOl|A DO|E2ALE AA|
3)

=
Fel=It ot A= rof thSH h(x) =2"2] z=aOlM DIZASE

o a |'
T = UsAE 22 2ol oA HdHSIAL.

l-_J

4. L% a2t R2F 10l TSI h(z) =2"9 z=a0lM DI2AHFE Fot= YYES 9l 2




[ZA4] 2] & AAES i &5 A2, (50%)
otelol §l2 =JO0| Utk JREstA o] =3 Qo 10k HE[E F1 ARSI} BAL
=0 ACH Bt AEO| A0S S ELGHM BRISZE Jhe =30 =22 o X0 252
SACHLL ofxp =R HOE Fof=0] gl O AEO| O|Sstes 552 Al 5kmZE
gdstt. Tt 225 w7 O Zele A2 FAE & As U3 Ao JHdst
At

A0l BOFSO Z=2I5H7|7tA] 23 AIZEO] tAIZHt > 2)Y I E=20] sAH US 7tsd

1. O
o] ¢

= A4
MM -

Aol S0l

3. O] AHEO[ 4AI2t
oLt £[HE=71?

O AtZO| BOMSO =2f5t7|7HAl 22 AIZH0] tAlZH

A(t)2t skt 7t stglo] HE o

otojl BOMZ

o 22 ofEA ==71?

2 o 2=0|

OfH =0

o

—

Al

of =230t 220 sAA Us 7590




